Inverse Operations Lesson
Suppose we had an equation 

	y = 2x + 4
	x
	y

	
	1
	6

	
	0
	4

	
	-2
	0


We can find the inverse of the equation by solving for x and then switching the x and y variables

2x + 4 = y

2x = y – 4

x = (y-4) / 2

y = (x-4) / 2     -   this is the inverse of our original equation

	
	x
	y

	
	6
	1

	
	4
	0

	
	0
	-2


As you can see the x and y values have been switched for every pair.

For a plumbing job Joe charges $15 an hour plus a $100  flat fee. The equation can be written as :

	y = 15x + 100
	x
	y

	
	1
	115

	
	4
	160

	
	8
	220


The inverse is 

	y = (x-100)/15
	x
	y

	
	115
	1

	
	160
	4

	
	220
	8


With this equation, x represents money made and y will be the hours worked. Note that each ordered pair in the T-Chart has switched.

